3051 H alf/SpIit (Light-Range)

£

Used symbols ({EFRXh3%EE)

d [mm] Nominal diameter of the shrink disc (32U > 275 4 X7 RR)
dwW  [mm] Shaft diameter (&%)

Mmax [mm] Maximal transmittable torque (=& kL 7)

D [mm] Outer diameter (2 U v 75 4 X7 HE)

4 [mm] Length of the bush (N#wE )

e [mm] Excess length (& (£9) )

H [mm] Width of the shrink disc (32U > 7T 4 X7 5X)

A [mm] Pitch circle diameter (KL E v FF)

B [mm] Attachment size  (4\& A1X)

Ma  [Nm] Tightening torque of the clamping screws (/L MM kL 27)
Z Number of clamping screws (FRJL )

S Size of the clamping screws (GRJL k54 X)

Nmax [min-1] Permitted rotational frequency (RAFAREERE)

PNy [N/mm2]  Moderate pressure to the hub  (FFZ2%h E/E (FEME) )

| [kgm?2] Moment of inertia (BT —X > 1)

Design of the shrinkdisc (a2 UY T4 RIDTHALY)

d < 140 Discs galvanized - without washers (A\EREESHA X v F. Tyvrvi L)
d =140 Discs painted - with washers (A \BZE. TyvvdHh 1))

Dimensions H & e in unlocked position (H,e~Ii%&lx. E&HE)
Hexagon head bolts are used as standard.Upon request we provide all sized shrink discs
with hexagon socket head bolts (Inbus). (NAFRIL k(IEE), RATARIL b I ATEE) )

1/4 Copyright © 2022 Koshin Co., Ltd. All Rights Reserved.



min. yield strength Rp0,2 N/mm?

Solid shaft 290 (B BRRICHR/IME)
Hub 350 (FhZedh  FRIGHER/IME)

BHES v 7 b EAW D D OIREN IGIRIR

dwiE minimal maximal

100 170 -5
170 230 -10
230 320 -10 10
320 480 -15 10
480 510 -20 10

d 2
—_ W (target)
M= MmaxfCata.’og} (a )
W (Catalog)

(see Basics - Calculation)

P () \mﬁ(c”
Irwver ring HAL -
M(D)mo \_‘ ey % / »
\'\ ¥ 78
l "
‘ " 1 |
W \" N
=" A\ .“ ? NG
— AN F
=i L /' /

Deviation from the standard shaft diameter dW see the table ,3051 Light-Range*
and ,Calculation of transmissible torques and forces*
(3051Light& I3, HENRAY T, TEET SV, )

Ordering information: TAS 3051Typ - d - y (for Example: TAS 3051GET-200-Y60 or
TAS 3051HALB-G-200-Y30 or TAS 3051HALB-D-200)
(EUFEIEER) - TAS3051 typ-d-y (41 : TAS3051 GET-200-Y60,
TAS3051HALB-G-200-Y30, TAS3051 HALB-D-200)
GETIZX 7Y v b T,
HALB=HALF TH UL EH A, FMIZMEELZE 0, )

2/4 Copyright © 2022 Koshin Co., Ltd. All Rights Reserved.



Please note: (ZEETEW)
All values refer to shrink disk design HALF!  (n-732&3REF)
Please provide us the dimension of ,y* or the length of screws.
Otherwise we can not provide appropriate screws! (y~SEZNRHTHZ TLZE W)

Applies to shrink disc design HALF-G: ( 4 \8sGyEIREF )
* The required screw lengthis:  (MWERIL MR EZLLTF)
Screw length (3051 Light-Range) - I1 + 2 a + y (rounded up to standard lengths)

Applies to shrink disc design SPLIT: (X7 U v F&EIREF :)
* The design consists of 1x HALF-D + 1x HALF-G (D% 4 7 :1lset + G& 4 7 : 1set)
« Delivery is possible with or without screws ( RJL kf & /EEFEE )
« Maximum transmittable torque: Mges = 2 Mmax ( MTIZ TFE2&RMmax® 2 1Z )
* The required screw length:
Screw length(3051 Light-Range) + 2 a + y (rounded up to standard lengths)

3/4 Copyright © 2022 Koshin Co., Ltd. All Rights Reserved.



(FiEtERER)
LT, Y A ARREDUAO LD TH, WEAERTLETOTEHOAHE LS, )

HALF-D ONLY
Mmax D ¢ a I A B d Nmax PN I Weight
s

Nm  mm mm mm mm min-1 N/mm2  kgm2 kg
1201100 | 5900 |185| 24.5 30.5 158|129 |59 | 8 | 11 | M10x40 | 931 10.9 | 3000 | 169 |0.0164109| 2.7
1251100 | 5400 | 185|245 305|158 12959 | 8 | 11 | M10x40 | 931 10.9 | 3000 | 163 |0.0155781| 2.5
140|120 | 8600 |220 | 24.5 30.5|175| 144159 | 9 | 11 | M10x40 | 931 | 109 | 2600 | 163 | 0.03315 | 3.9
155|135 | 12400 | 245 | 245 30.5 1192|159 | 59 | 11| 11 | M10x40 | 931 10.9 | 2300 | 180 |0.0514806| 4.9
165|140 | 16500 | 260| 28 36 [210]169|100| 10 | 135| M12x50 | 931 | 109 | 2200 | 190 | 0.0770453| 6.5
1751150 | 20000 | 275| 28 36 12201791100 11| 135| M12x50 | 931 | 109 | 2000 | 198 | 0.095625 | 7.2
1851160 | 23500 | 295| 28 36 |225]1891100| 12| 135| M12x50 | 931 | 10.9 | 1900 | 204 |0.1288281| 85
195|170 | 31700 | 315| 33 41 12371199/100| 15 | 135| M12x55 | 931 | 109 | 1800 | 199 | 0.205875 | 12
200|180 | 37800 | 330| 33 41 124212041100 16 | 135| M12x55 [ 931| 109 | 1700 | 207 |0.241925| 13
2201190 48200 | 345| 41 50 | 265|224 1250 10| 175 | M16x70 | 931| 10.9 | 1600 | 205 | 0.33485 | 16
240|210 | 66100 | 370 | 41 50 |290| 244|250 12| 175 | M16x70 | 931 | 10.9 | 1500 | 226 | 0437625 | 18
260 | 230 | 86200 | 395| 44 b4 |310|265|250| 14| 175 | M16x70 | 931 | 10.9 | 1400 | 223 | 0.6149687| 22
280 | 240 | 98100 | 425 52 62 |333(285(250| 16| 175| M16x80 | 931 | 10.9 | 1300 | 203 0.939 29
300 | 260 [ 121000 | 460 | 52 62 | 358|305 (250 18| 175 | M16x80 | 931| 10.9 | 1200 | 213 | 131% | 3b
320|280 [ 143000 | 495 | 52 63 |378|325(250| 20 | 175 | M16x80 | 931 | 10.9 | 1100 | 222 1.824 42
340|300 | 169000 | 535 | 52 63 |402{ 345|250 21| 175| M16x80 | 931 | 109 | 1000 | 219 | 25616 | 51

(&n]

coO OO OO OO o o o o1 o1l o1l o1 o1l o1 o1 ol

350 { 300202000 | 545| 60 | 10 | 71 |413|360490| 16| 22 | M20x90 | 931 | 10.9 | 1000 | 213 | 3.0416 | 58
360 | 310 | 202000 | 555 60 | 10 | 71 |423|3651490| 16 | 22 | M20x90 | 931 | 10.9 | 1000 | 207 | 32275 | 59
380|330 (243000585 69 | 12 | 81 |442|387/490| 18 | 22 |M20x100| 931 | 109 | 970 | 197 | 44405 | T3
390 340 1282000595 69 | 12 | 81 | 452|397 1490| 20 | 22 |M20x100| 931 | 10.9 | 960 | 214 | 47449 | 75
400 350 307000{ 615| 69 | 12 | 81 | 462|407 490 21| 22 [M20x100| 931| 10.9 | 930 | 219 | 5449 | 381
4201360 | 321000| 630 | 73 | 12 | 85 | 485|427 (490 22 | 22 |M20x110| 931 | 10.9 | 900 | 204 | 62346 | 87
4401380 375000| 660 | 73 | 12 | 85 | 505 447|490| 24 | 22 | M20x110| 931 | 10.9 | 860 | 212 | 75504 | 9%
4601 400 | 467000| 685 | 79 | 14 | 92 | 527|468 490 28 | 22 |M20x120| 931 10.9 | 830 | 215 | 9.6167 | 113
4801|4201 490000{ 715| 81 | 14 | 94 | 54748849028 | 22 |M20x120| 931 | 10.9 | 800 | 206 114 123
500 | 440 | 556000 750 | 81 | 14 | 94 567|508 490 30 | 22 |M20x120| 931 | 10.9 | 760 | 212 1391 | 137
530 | 470 {659000| 800 | 90 | 14 |1025| 600 | 540 490| 33 | 22 |M20x120| 931 | 109 | 710 | 194 1991 | 113
560 | 500 | 775000 8501 90 | 14 11025 630|570 1490 36 | 22 | M20x120| 931 | 10.9 | 670 | 200 2651 | 197
590 | 530826000 870| 90 | 14 [1025| 676|602 490| 36 | 22 | M20x130| 931 | 10.9 | 650 | 190 2121 | 197
620 | 560 | 879000880 | 90 | 14 |1025] 686 | 624 |490| 36 | 22 | M20x130| 931 | 10.9 | 650 | 181 2123 | 188

4/4 Copyright © 2022 Koshin Co., Ltd. All Rights Reserved.



